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SECTION -C (30 Marks)
Answer ALL questions
ALL questions carry EQUAL Marks (5x6=30)

11. (a) Explain the components of time series with examples.
OR
(b) Fit a straight line trend by the method of least squares to the following data .
Also draw graph for the identified trend.

Year | 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000

Value | 17 20 19 24 140 35 55 50 74 69

26

12. (a) Explain in detail about ratio-to-trend method with its limitations.
OR
(b) Calculate seasonal indices by method of link relative methods to the
following data.
Year I quarter il quarter IIT quarter 1V quarter
2017 6 6.5 7.8 8.7
2018 5.4 7.9 8.4 7.3
2019 6.8 6.5 9.3 6.4
2020 7.2 5.8 7.5 8.5
2021 6.6 7.3 8.0 7.1
13.(a)From the following data construct an index for 2003 taking 2002 as base by the
average of relatives method using (i) arithmetic mean and (ii) geometric mean for
average relatives:
Commodity Price in 2002 (Rs.) Price in 2003 (Rs.)
A 50 70
B 40 60
C 80 90
D 110 120
E 20 120
OR

(b) Explain in detail the methods involved in construction of index number.

14.(a) Explain in detail about consumer pri

OR

ce index number.

(b) Calculate Fisher’s ideal index from the following data and prove that it
satisfies both the time reversal and factor reversal tests:

2002 2003
Commodity Price Expenditure Price Expenditure
A 8 80 110 120
B 10 120 12 96
C 5 40 5 50
D 4 56 3 60
B 20 100 25 150

15.(a) Discuss the various estimation methods of measurement of national income.

OR

(b) Discuss in detail about the modern national income.
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SECTION-A (5 Marks)

Answer ALL questions .
ALL questions carry EQUAL marks 5x1=Y9)

-2 2 3 :
1LIFA= ( 0 3 5), then the eigen values of A™* are .
0 0 -1 , v

() -2,3, -1 (i) -3 3 -1 (i) 2, -3, 1 (iv) 4,9, 1.

2. If two roots of the equation x* — 8x3+ 18x% —30x + 7 = 0 are of the form a + ip and
B + ia then the value of a + Bis . | ~ |
(i) —4 (i) -8 gGgi)4 . (iv) 8.

3.Ify= (;i—b) then yn =?

. (-1)“(n—1)!arl ey (1P 1(n)la® ey (—1)M(n+1)1a" .« (-DPm)a"
@ (ax+(i)D (i) (ax+(i)n+1 (i) (ax+(if)n+1 (iv) (ax+@)n+t’
v 2 ' ‘
4. When %i—' =1, % = 2, the curvature =? _
() —= (i) V2 (i) 2v2 (iv) 2.
vz , .
LI
5. fozscos x dx =? |
. .oy 35 ey 5T . 16
@) el (ii) P v(111) poy (iv) et

SECTION -B (15 Marks
v Answer ALL Questions
ALL Questions Carry EQUAL Marks ~ (5x3 = 15)

24+i 3 —-1+3i

saura=(g T LT

), show that A*A is a Hermitian matrix where A* is the

conjugate transpose of A.

OR
b) Find the eigen Val_lies and eigen vectors of the métrix ( i _4).
7.a) Obtain the equation, one of its roots is V3 +V5.
| OR
b) Transform the equation x* + x°—3x*+2x —4 = 0 whose roots are diminished,by 2.
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